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1'02
Intro

Today we will 7"va learn X" 97 of ma1m5 NoON
Some of the topics we will learn about include.

MY5N2 PRIYW VIRV VI YA PN

One shot an arrow on Shabbos, and it traveled a distance
of four Amos in a 0’1797 MW", and also tore a garment
during its course.

N7 M0 IR VRY
One is n» 270 through 73 only if it was preceded by
17pY. Therefore, the i is linked to the 7vpy.

Two distinctions between 251 nYax and 77772 77
1.
ATPY RH2 7MIAY TWOR R

One can only transgress nmin if it was preceded by 77py.

However,
77237 RD2 19°ORY TWOR
One can transgress 151 N>R without a preceding 77230

2.

piaskhriai

15 771 731 RY NTARD W1 R

A 17vpy through npat CANNOT be retracted. However,
251 nYOR

nPRRnIsR )

The 17277 of 251 can be retracted.

Three explanations for 7R3 PR1 121 N2W NOR
In the case of Xz M N

7”N72 YN PN
N3N PRI YIN

NYPY
RN NN NN

2 distinctions i 2
between
JOWOR WX 2R
NP>t nnano NNTRD

7092 | fvpyxh XD XY

N 97Mm
and

N99RY VDR N
’
J'I'?bDN NN R TN
2oN - JOf Vo AP no

Three explanations for

TNRD X2 N2 N2W NONR
In the case of

KRR 77210 NN
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Some of the terms and concepts we will learn about
include:

The 7R of 9772 772YM AR¥IT consists of both, T7HY,
removing the item from its initial location, and nnn,
placing it in another location.

IIRONIY 2

MT T PN

RtV 12 says that when one is yon 9°2vn, carries an item
through 1357, walking, each step is considered as if he
was T2, stopped, thereby making a nmin, and then
restarting with another 77py.

7YX HY NPIINI I 7IWN OTR ST
A person’s hand is considered a significant area of 4 x 4
oMoV
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So let's review ...

The Gemara in the previous Daf mentioned the opinion of
Mpn a2 nn: a0 that

YR ITA TS Op

Applies to

mna02 R

Just as it applies to

PTANDD AN

For example, if someone committed a transgression for
which he is liable for both n13, and pm>wn, monetary
compensation

PPISVNA P MO

He only receives 073, but is exempt from pmb>wn
Because

TromTarhop

The more stringent 73 absolves him of the less stringent
pobwn.

However,

1IR1 1720 YW 1257 2302 PR A RN AT

2N RINY

In a case in which one stole 25m, forbidden fats, and ate
them

robwnaarn

He is liable for both, 173 and pibwn, because,

71212 270N 920

251 MOR TS R DR

The pmbwn 2rn was incurred through nnasn, lifting it,
before the N> 2vn, which was incurred through 75x,
eating it - and n1>2rn CANNOT absolve him of the
pre-existing pm>wn arn

711 n2772 75 o'p applies only where

AR DRI POYWM D

The nrn avn and pbwn 2vn are incurred simultaneously
- as explained in the previous Daf.

DafHachaim.org

PN 12 PN

NN D272 N DOp
Applies to

NN 2N
N W&@/ to

/’9 NR_DNN D)

NPN 12 RMM I 0TIN
19081 179720 YW 125N a2
27N RINWY

N2 and POIYVN

Because,

D,oj/,a ,o";/] N

,aﬁ sork 3 L0 PP

DYN D2 3)'//07) WM/
(w%/ where

ko ps /'/'//[&/ N
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The Gemara continues that this is NOT a contradiction to
2R 27 who says;

VIIR PO VIR NONON PR PR

MY PRIV VI

Nvo

If one shot an arrow on Shabbos, and it traveled a distance
of four Amos in a 0’1797 MW", and also tore a garment
during its course, he is exempt from pm>wn, from paying
for the garment, because of

oAb op

Although the p>wn incurred through myp, preceded,
the nn of Shabbos incurred through 7m373, the landing of
the arrow?

However, since

RPN TN AYPY

One is n» 270 through 7M37 only if it was preceded by
npv. Therefore, as Rashi explains;

TNRI PRI PNSOM D

N7 NI IR TTYPYY

IR 15 TOANR ROYW R

The nn'w 2rn is considered to be incurred during the entire
duration of the 79X5n of 9”772 72vM IR which consists
of both, n7pY, removing the item from its initial location,
and 7m0, placing it in another location - and the 2rn
rmbwn is also incurred within that timeframe. Therefore,
7r» 11771 75 o applies, and the nmn absolves him of the
YN,

The Gemara explains further that this reasoning
CANNOT be applied to the case of 25n as well, to say that
since

N7 I9IR TR 020

It's considered

TARD PRI PO AN

And therefore,

P>YNN MO

Because of

Trn T b op
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This is NOT a contradiction to
P2N 12 who says;

V2R DY YIIR NNNN YN PNTH
1N25N2 PRIW VI
MLVD

He i exempt /mm/ /Mﬁ ,
because @% YN D975 ;),//07,

Although the poibwn incurred through nvp,
preceded, the n»yn of Shabbos
incurred through nna, the landing of the arrow?

R NNIAN N NPPY
7nH 13 PMSED DY
B DD NS DINHVE
DOH5H D5 DINNH HHVE HDM

This reasoning CANNOT be applied

to the case of 25N as well to say
since ') ND1DN 1NN NN2IN
It's considered TN PN PIDWM DD
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. Because there are two distinctions between 3”772 770
and 25 0K -
1. distincti
In the case of 7172 ™ 2 distinctions i 3
TYPY RY2 7MY TWOR R between
%rqle CfANNOT make 1m37 without a preceding 77pY. ) TVOR N "IN

erefore,
NP2t nmnb NNTIRD

N7 M3 IR YpY

But in the case of 251 n95x 9”092 A 89 NN KXY
727 RS2 729K TWOR I 25970
5981 P VI ORT and

One CAN transgress 722r without a preceding 7027, by

stooping down and eating it without lifting it. Therefore, 199N VDN N
nodR

NI T279R TR IRY 77230

NNN K92 TN
: 25N ok prg o 4> no

In the case of 7”172 777
19 97 730 RY INTIRD WA R

A 77y through np 1t CANNOT be retracted. Therefore, J 12 o x
N7 P30 IR APPY 190 7°2YyNn
But in the case of 250 noR 97193
5 T 3D '
The 7237 CAN be retracted. Therefore, ]’R‘I’\’J }"lp'l
N7 12OR NN RS AN 1MOHN2
The Gemara explains;
. MPIRINR

M52 PRYW VIR 772 OO Pavnn

The difference between these reasons would be in a
similar case of nawa 172vn, where instead of throwing, he
carried a knife through a o297 mw1 and it tore a garment
during its course.

The reason of

TYPY RY2 MY TWOR R

Applies here as well -

But the reason of

1937 3P N>

Does NOT apply to here, because he can stop walking -

A V“ 4
. esk‘e‘l
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The Gemara continues discussing the concept of 7py
N7 77377 7% and asks from the following Braisa:

2N N2WI D AN

1220 MORTH RW DT 727331 2770 9100

One who stole a wallet on Shabbos through nn23n, picking
itup in the house, and then committed xx17, carried it out
into the 0’2371 MW is

Pe>WN1 N

Because the Pbwn 2rn was incurred at 7n2xn, before the
1o 2arn was incurred at R and e AT PO Op
does not apply.

The Gemara asks that he should be p>wnn 7100 based on
the concept of

N7 IRXIT NI 7720

The nnaxn is also the 7py of the Rz, This would make
it

TARD PRI PO AN

In which 771 712972 775 ©°p does apply?

The Gemara answers

ART NN 2730 N7

ey ntaliVel biaia)

This Braisa follows the opinion of "Rt 12 who says that
when one is yon 12v», carries an item while walking, each
step is considered as if he was 72, stopped, thereby
making nn37, and then restarting with another nvpy.
Accordingly, the pmbwn was already incurred at nn2an,
while the nn>» 2rn was only incurred at the 77pY of the
last step before exiting the house to the 217 mwA.

The Braisa continues:

However, if

NI D RIM VD0

mileh)

TARD PR 72’330 DIV NOR 0

Ifhe did NOT lift the ©5, but dragged it on the ground into
the o277 mw; he is

PEISVNN MO

Because, it IS

TARD PRI POV D

In which y» 72772 75 ©p does apply, because, the i
and pmbwn were incurred simultaneously when the ©>
passed over the threshold from the house into the 7”17

However, the Gemara asks that at the point of dragging
the ©°3 into 0277 MW there would not be a 12733 NOR,
because, n>wn does not affect a pip in 0237 MW?

DafHachaim.org

XN NNIN NN NPPY

P e
2" - PAWS D' AN
2% 2"MN) Na0Y
9D MO O NW BTIP
2

L]

He should be p15wnn N
based on the concept of
NN ANXIN X NN2I0N

This would make it
PPl pn /71///&/ N

ANRT RN IRTY 12710 RN

MT TOIVD 190N

Fach step it considered as 7/& he was sy,
Z‘ﬁereé?z ma,ém?/ 23,
and then restarting with andther »p)

The Braisa continues:
MDD - NXIM 9920 KM 9920 "7
N2 DAY MO M
MRS PR3

Becauwse, it 7S
Ipto /f,ep /7«//@)/ NN

2

o

At the point of dragging the D' into D2 DI
there would not be an ) DN,
because, N2'WD does not affect apip
in DN MH?
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The Gemara offers three answers:
1.
TORD PR 727N NIV NOR

D277 WY TRY PRORTA

He dragged the ©5 out to the sides of the 7”777, where
n>wn does affecta pip.

Therefore,

A0 277 DAV IS

Because the Braisa holds like 71258 *27 that

ik i minle Lrn i R A3

7”77 7% is considered a 7”777 regarding Rx7,

DNnY Y DY PRI PIT

The public traverses 7"717 73 during congestion. However,
P RIPD IV

9”717 °73 is considered a i mw regarding 11p,
37w RY RTT

The public does NOT frequent the 7”77 773.

2.
"WR 17 says that the Braisa refers to a 9”77, and
TORD PR 7270 DAYV NOR

PP VYU TONS 1T GIIW

He placed his hand lower than 3 150 from the ground
and accepted the o3 in the 7'7;

Arp 270 naw P

Because the 7min was in the 9"

Although we need aminona 75y "7 D1, an area of 4 X 4
onov? However,

K27 IOR

YIRSV MY2IRID NN IR S0 T

A person’s hand is considered a area of 4 X 4 onov
Therefore,

PRI PIVY

As Rashi explains;

DIPH WM NV PIVIT IR D

DIPD WM P RIPD PIV?

Since regarding Shabbos, his hand is considered a
significant area - Regarding 1p, his hand is also consid-
ered a significant area.

wHwR NHYH PATIPRI

As if he actually performed 172377 above 3 0'nov, in which
he is 2w p.

3,

K127 says that the Braisa refers to 7m0
And

TARD PRI 72N NIW NOR

Because

MR I

One can acquire a 13p in a 7"77 as well.

D3E 1DYYT 9
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nialapRP2IAV)

NW5VN NVNIT APRWYWD
19207
PN ”}// Al ﬂ}//
thp) NN 2N

Because the nnan
was in the9”m

AR
DR SO
15 NN

DN NEN
1) HINH 1V
DN NEN

NN 1N
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